ETERCIC7O f28E6 3211

4

Gchiwagec. cow

Yioree =7 s G b 608N g

Ky = 8,990 Km = £,99. /07 17

)?ofes:ra L SRTELITE (&u’sl‘o) = 488 /0 tl’m £ 4?1“-/07»7
76'24/»‘0 = /(,74453 = A,F-29.60.60 = /o160 s

T eocEsdnrensSo !
i Ky —> &.&8504 A zé/o/r(j é.’&sZ'

0’%4 Aée/p/r.- //“\
i tea, (Wh @es) R

2,

ol
A 7 | R G Ay /:%;'i_”;’@

oLl Pt 2nl
( %/z: CHhr o xRl ok
7

7
/o) 72 ol

/@oj= 51-!_7'2 => /6= /\?ify}rz
2y’ 6-7%

(188 / ’)'T’ 25° 7
/y= ,84./0 2:‘45}7./4 ;9
G L2 /" -é/f’{o /éo/
7
P T N N i

Sl = 3 ) 3
2 2
v gy 25 (67947

Zy = r286,02 43,3




